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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the
blank. Then mark the correct choice on your answer sheet.

1-  In the central highlands of New Guinea the sudden ------—--—— from the society of the
stone ax to the society of sailing ships (and now of airplanes) has not been easy to make.
1) manifestation 2) deterioration 3) transition 4) sophistication

2- I want your help with my literature review, ---—-—---- to the e-mail are some questions.
Please answer them.
1) Raised 2) Posed 3) Inquired 4) Attached

3-  There is no single or widely used definition of children's literature. It can be -
defined as anything that children read or more specifically defined as fiction, non-
fiction, poetry, or drama intended for and used by children and young people.

1) broadly 2) optimistically 3) controversially  4) neutrally

4-  When many of the spoken languages of the Native American Indians were ----------- as a
result of colonialism by English, French, Spanish or Portuguese, they became extinct.
1) distributed 2) replicated 3) illustrated 4) replaced

5-  During the winter storm, the road conditions were $0 ----------- that schools were
cancelled for a week.
1) reckless 2) deplorable 3) superficial 4) erratic

6- Laying a bouquet of flowers and the gift-wrapped doll upon the bed, the young mother
kissed the sleeping Soha and said this —--—--——- : "A happy birthday, and God bless you,
my daughter!"
1) beneficence 2) malediction 3) benediction 4) valediction

7-  People who - -- their dreams do what they love and they go for greatness.
1) chase 2) involve 3) gather 4) require

8- Attention is essential in achieving anything. If you can’t pay attention, you can’t get the
job ~mmeemeeen .
1) taken 2) made 3) tried 4) done

9-  Everything man-made around you was ----------- a thought in someone’s head.
1) socially 2) originally 3) quickly 4) desirably

10- The strength of the United Nations is dependent upon the ----—--—-- of its member
countries.
1) encounter 2) assumption 3) cooperation 4) urgency
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
[fits each space. Then mark the correct choice on your answer sheet.

| can put my cash card into an ATM anywhere in the world and take out a fistful of
local currency, while the corresponding amount (11) ==-=-eeeun- from my bank account
at home. I don't even think twice: (12) ====eveeuu- the country, I trust that the system will
work.

The whole world runs on trust. We trust that people on the street won't rob us,
(13) —==mmmmeen the bank we deposited money in last month returns it this month, that
the justice system punishes the guilty (14) -=-e=vnnnx . We trust the food (15) ~==-emeenev
won't poison us, and the people we let in to fix our boiler won't murder us.

11- 1) to debit 2) is debited 3) debits 4) debiting
12- 1) in spite of 2) in relation to 3) no matter 4) regardless of
13- 1) that 2) and 3) for 4) though
14- 1) and the innocent exonerated 2) and exonerates the innocent

3) in order for innocent to exonerate 4) which it exonerates the innocent
15- 1) is bought 2) which we buy it 3) we buy 4) to buy

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

In England. the concept of a centralized, professional police force was a tough sell
initially and was met with a tremendous amount of resistance. The public feared that a
police force would essentially behave as another arm of the military. As a result, there
was an understandable reluctance to agree to be controlled by what many assumed
would be an occupying force.

In order to overcome this opposition. Peel is known for laying the framework for
what a police force should be comprised of and how a good police officer should
conduct himself. While there is debate as to whether he ever clearly enumerated his
ideas in any sort of list format, it is generally agreed that he created what are to this
day considered to be the primary principles of policing.

Peel's efforts were very effective in assuaging public fears and concerns. In
addition to the principles of policing, Peel and his supporters took other measures to
ensure that there was a clear distinction between professional police officers and the
military. Police wore blue uniforms in contrast to the bright red of the Royal armed
forces. They were forbidden to carry guns, and at all times the importance of
maintaining the public trust was impressed upon members of the force.
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Which of the following best describes public reaction to the establishment of a
centralized, professional police force?

1) Alarm 2) Excitement
3) Mild disapproval 4) Uncertain but interested
According to the passage, what Peel did was ——eeeeeecmaaaes,

1) instrumental in making people trust what the police force was intended to do

2) to act in a way to make people believe that they harbored their irrational fear of the
military

3) to carefully define the police force's line of duty so that the military could not
interfere with the act of policing

4) helpful in making police officers realize that they did not have to let people's
concerns affect their principle of professional work

The phrase "this opposition" in paragraph 2 means opposition {0 -—--eeeeaeee- A

1) the function of the military

2) the concept of a centralized. professional police force

3) Peel's laying the framework for what a police force should do

4) people's tremendous amount of resistance to any type of control

Which of the following statements is NOT true, according to the passage?

1) The uniform worn by police officers made it at first difficult for people to
distinguish them from the members of the military.

2) Peel and his supporters reinforced the principles of policing already laid out by
some influential people.

3) The concern that the police would occupy the streets made people not welcome the
whole concept.

4) Police officers were told to behave such that they would be able to be trusted by

people.
The word "assuaging" in paragraph 3 is closest in meaning o -——-----eueeeee,
1) triggering 2) displaying 3) diminishing 4) justifving
PASSAGE 2:

The notion of “third party policing™ has emerged as a way of understanding how
public police can steer these crime control networks, by mobilizing other parties and
making use of their resources. Third party policing occurs when police engage with
other organizations or individuals and use a range of civil, regulatory and
administrative laws to create or enhance crime control and prevention networks. The
focus shifts from sole police responsibility for preventing and responding to criminal
and anti-social behavior to networks using a wide range of legal options. but with the
police at the centre of the networks. rather than as simply another node. Such networks
can focus on risk identification, surveillance and prevention, rather than on traditional,
reactive police strategies, and make use of a wide range of non-traditional legal powers
and levers. Some of the legal measures used include property forfeiture. license
restrictions. evictions and injunctions.

The distinctive feature of this type of policing is that use is made of legal
mechanisms outside the criminal law. Police therefore gain access to new levers that in
most cases are less hindered by restrictions and protections developed around criminal
law processes. In addition, they gain crime control partners who are convinced or
coerced to take responsibility for local problems. In third party policing, the police
create or enhance crime control guardians in places and situations where guardianship
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was previously either ineffective or absent. Police work in partnership with other
institutions. agencies and individuals in an effort to prevent and more effectively deal
with crime problems. But unlike other types of police-community networks, third
party policing is characterized by top-down strategies that compel the police to harness
new, coercive powers from other network nodes, to help improve crime control.

What is the main purpose of the passage?

1) To describe an approach to policing

2) To compare and contrast two ways of doing police work

3) To chronicle the development of a new policing strategy

4) To support a new but controversial approach to policing

Which of the following best describes the relationship of the second paragraph to the

first?

1) The second paragraph describes a new phenomenon that has the same cause as the
phenomenon described in the first paragraph.

2) The second paragraph provides an example of a case in which the claim made in the
first paragraph does not hold true.

3) The second paragraph modifies an observation made in the first paragraph by
detailing viewpoints against it.

4) The second paragraph provides additional information in support of the concept
stated in the first paragraph.

The network of resources used in third party policing is one in which the police node

1) does some monitoring work to see if the other nodes act in accord with law
2) is equal in rank and importance to the other nodes in the network

3) plays a less significant role compared to the other nodes

4) plays the most important role in the network

According to the passage, the new levers used in third party policing are in most cases
less hindered by restrictions because —----aeaeeeeee,

1) the entities with which the police cooperate can easily bypass legal barriers
2) sometimes legal mechanisms outside the criminal law are deployed

3) local problems are identified and resolved on a local basis

4) focus is more on preventive rather than punitive measures

Which of the following best describes the tone of the passage?

1) Admiring 2) Cautious 3) Analytical 4) Critical

PASSAGE 3:

There are four underlying assumptions of community policing. beginning with the
notion that increased visibility of police decreases the fear of crime in society.
According to this assumption. the community will feel more secure if there is more of
a police presence, since police presence can deter criminals from committing crime.
However, this assumption can be questioned because a police presence may force
criminals to move to the other areas.

The second assumption is that because society is composed of a homogenous
population, satisfaction, or dissatisfaction with the police can be measured. This
assumption is problematic, however. because social class characteristics, age and race
of the neighborhood result in variations in police service type. Further, since there is
not a single community. questions arise regarding how the police identify community
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and determine what the community needs. This may result in different perceptions
regarding police service and the effects of these services in different communities. For
instance, while foot patrol is successful in reducing the fear of crime and increasing
satisfaction among citizens, this may be an overgeneralization of the effects of foot
patrol activities, and these activities may have different effects depending on the
demographic characteristics of the communities involved.

The third assumption is that police should help community actively to define and
form their norms. This assumption has some very critical shortcomings, however, The
primary task of police is to act according to legal norms. Therefore if the police try to
enforce society’s informal social norms. it may cause injustice and corruption among
police officers.

What is the main subject of the passage?

1) Community policing

2) Assumptions underlying good policing

3) Problems with a specific sort of policing

4) Rapport between the police force and local communities

Which of the following best describes the organization of the second paragraph?

1) A claim is made and then it is called into question.

2) A general statement is made and supported by specific examples.

3) A novel approach is introduced and then a procedure is outlined.

4) A controversial viewpoint is presented and then both supportive evidence and
contradictory evidence are cited.

The author mentions foot patrol in the second paragraph in order to ————-eeceeeeeee,

1) give the example of a successful police activity

2) prove that a combination of police activities are required to ensure security in the
same neighborhood

3) demonstrate that the same action may actually be interpreted differently by people
in different communities

4) disprove the belief that social class characteristics, age and race of the neighborhood
result in variations in police officers' preference for their service type

What does "it" in the third paragraph refer to?

1) The police force

2) The primary task of the police

3) Acting according to legal norms

4) Acting based on informal social norms

What would the paragraph immediately following this passage most probably discuss?

1) Advantages of social informal norms to legal norms

2) Another assumption of community policing

3) Ways to combat corruption in society

4) Other approaches to policing

(T 3 ) o] ity ) pelns 5Ly pi Djlre 3 pily2 o o908 (STi G985 ) S pien o950

flam! wilo yme s> 51 Suplas Jaasieo « collail Q|”.ota o) sl jl jeme (yade g e ooliiulr o> -

S e (F yocmna (Y ole & (Y J;\ (\

forum.konkur.in



www.konkur.in

Vi 315F (11F+ a5) pollidl Sy pto 9 (Ruile b 3905

T39dign 1211199 (o9 @iy 2 Blo w2 & S 2 olgd I Saplas Y'Y
o5 szl 5l o U ggeo Sl ol 4 gy pe ils ()
SN g olad SIS @ by e (iled (Y
Sjlne Golas 4y bogye (p3l8 (T
bogyiin sol;l 4y bgs e opuiled (F
ol gy 30 Cdglao @dxni byl 590 plas Y'Y

P S g Sglae L3, o doni Siaog (F e @l oldes o o500

P eSS pe g Lglae )13 G e 31 (F S pe g pglas )18 o Glej @8I (Y
o9l 0 1yl Oljlre plus  plad g U> o gins ol > Sumi o -TF

2= ()

olai (Y

olad 5 3> aex (Y
i paite a2 35 G ) ol £adga S0 Dljlona sl (F
] (3 e 4 g s 50151 Dae YO
Jl d 25Tas 5 Jlo V Jilas (Y Jlo ¥ 25T 5 Jlu ) Jilas ()
Jlu 8 25l 4 Jlo ¥ Jilao (F Jlo ¥ 55l ¢ JLo ¥ Jilas (F
il s 1 35l Sl jlone 4y @5 3900 3l e Stie Sas il STl Oy g0 43 43 - ¥F
Al e ol B 5 s lag] 51 (S5 oo igil Shilome ()
Sl e ole ¥ 5 A o] 5 S Jlas | Sgils Sljlma (Y
Sl e Jlo V5l i g (S il gl Dljlna (T
il G Sl ¥ 51 e ol 1 S BBl 6l Sl jlna (F
falbl oo dos Ol 0 51 S0plal 511w P Cans JiBr g4y g 0y > TV

ple Codigu = 2> ¢ ple Cideguw (Y ple Cldiguw - o> Cudegw (A

P g ple Sdegr - o5 5 ple Caiega (F P g ple Sadegu - ple Cuiegus (F
flawl oS4z oageds dilgrd parled Jilio )0 950 0 3590 )0 40 L3 lo y Cudghume —TA

Jlllews (A

alsle (Y

éé'.).e (¥

ol Jadlos @03 Lol 2> dgz g0 Jalge 05> £, s Sl 4z L (F
fasib o Oljlne Gale Joadeo (g0 300 ol Ol o 1 Suplas Y4

ALY a> 5 (F AGF as (Y FLY a>,0 (Y YEYa,o()
pldl b oy pled QUG gl oads faatl dlae pljae 42 @ (Soh> plidl p Jlesl LB 08 gl -Fe
] | Rud>
AT Sl g pln ¥ Bl (Y Ap ¥ e gl ¥ Bl ()
A0 2STas g i Y Jslas (F JUVR JCC PSRN U ke ¢

forum.konkur.in



www.konkur.in

R easdn 315F 117+ a5) (ol o pto g Biloyb (903

el 032 4 ol 8 Jole yuundl 4ol 31 CIg0 Jo £ 958000 o lai

SPB e B (F &yl 28 (¥ ook (Y sl | ()

Ay 4 v P e (g 50 2 Oljlne (9l Ballae (ol 08 NS g LSl iy G0 gl Ol jlne
Yol &g

4y Jolas - azg plp 93 (¥ axg Jols - azg Jolas ()

as plpgd-azg plp g (F 429 plp 99— azg Jolas (T

T )lre o2 4 £ 90 Oljlne dane slog i o]y Oljlone (98 1TA 0L Slae sl

s> Jlo ¥ G ole £ (Y e Jls ¥ b sle ¥ ()

et Jlia Yot JlarY 08 s La s s e

Jootion gelmsmns (losollli 1 pui ¥ (o diwsd (P oo (Tebanns (5109 35 ]2 Dljlne (38 YY" B0Lo ol
§am! diloye lgae plas

o (F Sy (¥ s5d g3 (¥ g ()

Tl 390 plaS Jaois D95 4 doduo 3l pl g pMe!

sbleal Galss (F o9 (¥ 09> 4 oy (Y o2k (
f39u o0 7131 Cons 1 ollai 0 y90 plas 4o

yoS s &y galad CoasSome (Y 4 o3y 4 galad CoagSoma ()

(Rl e 4y gl CoagSona (F (el o >y galad CoagSoa (T

o0 (Fdamy o010 plAS 13 (igdd o0 )2 S o Landilid pldo 40 &F 4laS 395 (puls UG s &
segas (¥ el ()

S e Ceenl clllb 4 Y L g ) (5,08 (F st (v

ol glasl Z13l crge 9550 plas 4 oalad CoosSoms pehuns (5log 0 w2 Oljlxe (9B 1Y 0k go &
§39 o0 Tbumo (509 i

Jlo ¥ 5l G (e o (Y Jlo ¥ 5l G (Belad o (e ()

e 8 5l G (Al e (F Jlo 8 5 i (Al o2 e (V

13,10 (Flilme az (ol (gloaldlao )3 (ollasil g5y LS5 &5 2

o> Jlo Y Bole ¥ (Y o> Jlo Y Bole ¥ ()

e Joo Y ola BT onim R VB F O

ol g0 y2 42 150ke o 5 Bl 31 i 3adle d ollis Cla! o,

albas (Y e ()

ol e sl (F ple Cudegu gl)ls (¥

flaml GOl £ 95 42 (Parm (obd 9 (Plundi DML b 0l () 25T yaoley S

75k g0 2 ()

yeal gz g3 (¥
suol olg> edia b olg 5 o5 olg> i b olp> (F

forum.konkur.in

-f\

-¥Fr

-fr

~F¥

-¥b

ALd

-Fv

~FA

¥4

-0



www.konkur.in

& o 315F (11F+ a5) pollidl Sy pto 9 (Ruile b 3905

FauS g0 ST () Ca Jo1 5,b50 1y wallao plas pugdei &1 —BY
(&) Jal (fgo 5 Vs (F (&) o ol (2l 3 ple ()
(&) S Jol (fmgs 59,5 (F () < Jol Zenae (7
ol 3)lg0 plas 40 wlilogs Cuwanl -AY
Sy Clid dsdia o JlaS dsdie o cwlidlos asiie ()
bl Ozl Mo g olid e donia o oS doiie (Y
Cualel Sl anaio WOMSKEe Pl 5 JloS anaia (Y
ol g JlS assia (F
ol € Cude Job oo W pai 390 plas  —OF
2,0 (Ao gogr gl o (7 ol Sle aiajls (g392ll0Sas g il 39290 2 ()

s (e Joleo o (F 31 (Fle g392e o (V
Cow] g8 (0)) (5 ytdae duge o800 jl 190 g pde adily 0D
ol 20 00 ol s ole (Y &ls AL ()
Al ea b o> bl I (F A pete 5 LeSs 030 g ple (V
ol s a2 @ Ll Cads>  -0F
S ST g (sgrne Ladd (535790 (T Tos b el 5 sgian 5 s3le (539290 ()
Slogrga 4ty o (gole (5092 5e (F S 3 $3ke Gamgd (53529 (T
foal gk jael (g il 0 90 plos BV
X jeile (g 10l plad g euded 4 5L ()

By1s olas 5 eudai @ Lo gl g0 SBL Ol 3l a5 (Y

3,00 ol g pdai @ Lo gl g0 SBL 8 aes (5 (Y

AUl o )lgam gl o CL ol Bl aan 5 0yl plai g el a4 LS (F
Tapd o bl @ olre UL O Juadi g e S Ul pale plos -OA

(st 9 52025 pole (¥ Sy pale ()
S pgle aié (F &7 3 S8y pole (¥
Sl g8 o 51 8 i 5l ecaoldn Blogl -84
OJJJ-SH ..)Lz)s Pe ~-\J’.:.‘J' blaj WOt (8> (Y o..\.'.iSm ..L;H c-h& e 8> (\
..u,,_..gé.hi.o..u...f,_.g (f .)L:).’ P ‘Ju,._..:,c.laé(\'
fomw! Lo a4y add aillao oYy P+
i g dgue Sy ply 3 ple Ojg0r oYy (F B g 38 8 5l Gag e, (F

S gl G T

faled el 1) mae )laa ] jue (90 Wilgh (oo (01 3 90 plaS jo - F)
sac adad Oljlows (F S L Sl o (7 ;o (¥ as ()

forum.konkur.in



www.konkur.in

Vs axio 315F MNP+ 0S) pollal o poe g 2l 8 o)l

! 3590 plaS wasdai o) j9 0 lase

i pladl o 3T ol 51 (Y i pladl gl Lop > pady oo 51 ()

Sl gl I (F e Exy Ol 3 (T

fAgd o0 Dgaino (5 Ol ple (Uals €32 0390 plas

ahlsas o g ol ylaaile b (Y il oo loaz s (olaile b ()

Sy 5 ohleaz s (ol plaaila b (F Ol el padl ol loaz o (F

flww! plis plus suge p Jloado OlLERS plail d pwdld phaw 3o

ol U lbals (F ool (Y Sbols ylglea (¥ Sbwals (3
ol ogas (5laed cantns ailge jl 0090 plus

dogie yal jLel (Y obej y92 )

Sl LBl g0 o 5 ) pate WSS s (F i BBl o (SLeldS (T
] Fao (pogas gic g gogas 9AE 3590 )0 O)las plas

g g 3o lagSome 5 lagie 390 43 33,8 (F ) pogas pleds > 40 5,50 508 ()
ol oty DS ) gk g4 g0 a3 pas (F g e 3 JoST ) (5 RS SsagSone T g3 (T
93,10 U ax 9l 0 YOl o A o phwd ol S padls jo a5 bl )8

aulgs el S5 (F e 3 (T sl 13 (Y golael ;13 (\
Tl € plisids | yolon gla S5g 510,90 plas

olad g e (F ey (T Bas g 5 (¥ == 3 ()
o9 g0 yolo (o)1 8 43 Abli 0,2 picie byl ou plol Jos axils

Sl oS> (F riad ga (Y nsdind 3alas (¥ coiini  dabge ()

ol gogos glacd baiw Slea 10,50 plas

LS Culss i (Y Lo Sgh ()

Ol 53 0l o P 3l 53 Glej g (F S dad jf Sigaaa (T

Fiam! Slolio b plio 43 SA4E p phcid Candind

G Sl pdals (F Hbals (¥ Obals (Y ok O
“ylo 1) ool p e pledl a4 (T Comdlo &5 Wl o0 anSlre solBIS )0 0, (uiglae 3 I pir O jlae
Tl (oMo g9 a2 ,Sily

s b gl (F s (F SsLal (¥ S50

ol Slolpdl @ (S ) 20,5 goumin alad sleojea )0 alide Cunl a3 L oy i U o (ool ST
19 &y o0 o yguo olFS1S plas jo0 3,8

Al sad adly 0395 1 ;0 0,3 op e a5 B ()

Al 03,5 £ayd 1) LU pe el st S a8l (Y

Ak ool 181l 839 o ;0 LS ,e a5 el (7

Sl ojen 51 p0 p bV iy a5 alals (F

T Jla (o) 38 piete sl arge jae Oler 3590 plas

oelly St (g jlen (¥ acljlax! ey (0

po dielo U pgas a0 lS0050 51 (S0 g (F e og idgs o (T

forum.konkur.in

=al

-FY

-F¥

-70

a4

-2y

-FA

-#4

—Y.

-\

Al

Al

Al



www.konkur.in

V) axio 315F (NVF+ o) ol Cu p e g piloyd (40
KL p—— L iyl ougee & buls laie a0 &S g Cuo 1 5 pmmdald lails p o)l g caly -V
(IOPE S p o

Cnmy gl 4 55 p0 €glailyy b (S 5l jskiia -V
S ga pyhae |y anld o s B 80 SO
)13 0 )Ll @i )3 103,555k axg5 BB Sl (¥
31 0)Lol e 0 a1 3 g aools 5y axgi LB T4 (F
)5 oaalia @i 3 1) B85 g puie (51 o0 (257 030 S0 035 95 L (F
3l dz )0 (53 ild i | sl (Sae 98 | Jeolo gl £ o8y Jledol s o paea 45 oS VY

Tl 423 )5 553 (5 35 i
Sy (Y o leliia (1
SrS e 3 Gleab! poc (F el lals! (¥

aliy di popiols Ol jlns g OL (g LS pinan 9 Abl g0 SLAT 50 Wb yab b aF amil px bl swssli -VA
ol 3590 plas (bl )l @lge 952 o iy

ploy 05 g ply o 5 (Y ploy a5 aly o 5 ()
Pl oaits 3 5 ply ouins 3 (F plo 0y 5 ply oauiu 3 (V
o950 LI (0550l Sasly (S p558) (0 ol (Solegd 4 15 )0 325 slb paitin I Suplas -V
OB 3 S8 a9 Salige (T Syand 9 G9i> ()
S laeze (S5 il (F Slejle lacailow (¥
ol sl il (VU w3 (Jlojlew E5b oyl jan S5 5145 (USHI (sl 5 a8 Egiplas Al
saS sl (F wasi (¥ 5 L (Y wl el (A
Fadl dgfa Wl Jy8 50 axed g auja daly,  -A)
Sl JS e gglee b 5T )5 25 A (Y il S sl 55 RS e ()
Al S ause gyl b 5iSayS S8 e (F Al 8 an s 5l 5SS S ams (V

Iy gl S (ol ply  -AY
2yl oS laasos jo ails JUaxt s dadd ()
DS Dpge plelle Lol ¢ lpe aled jo (cale 15 (Y
el gl 5o 5lye aluks gloatsail 5 5 olKan Jlls Jg3 (T
s lale gladils g i e alils 5l oo 5 ool o (F
fad aales plojlw )0 A JLsle Sl 4 gl > ol )90 AT
25 )8 plejle Gl S 5 5 lales cos plajle (A
B8 8 plajle (Glles wiay 5 g als Cou el (Y
285 )18 Glejle Jle e S5 g balus cou plajl (Y
S8 )3 g0k laakis S ¢ bl cou lejl (F

forum.konkur.in



www.konkur.in

W aockas 315F (11F+ a5) ollisil o pie 3 Bl yd (5903l

T g0 0929 4 2L L 4z a5 51 G135 b g ke lojl AP

o392 Slee » L3le g aalsy glia » ,lsle ()

@il sl Lole g an by slow » LSl (Y

gax) ol Glis p Lolo 5 Olles ddlaie gl p L3Llo (F
Slles aihaie glie p Lol 5 ady £ lie p LSl (F

flawl plas lojlw sliw jlcie slusly als Jdol D -AD

Sile 2L S (F ety Ban (M plle ol Bas (F glejlo 2 j0ale 95 ()
fnazr Bolojlu 50 Fludl (5955 500l Sap

(JLo V=) e oligS 43 5L5 3,00 ,0l5 oymeli ()

(Jlo 8) Sae les ;o 5L 3,50 08 U...al.. (Y

by g Jlo Y0 ) Sae azdy ;0 5L 3,90 ;015 cpaali (F

ol 13 lajle SV 920 g jeki 4 a5 b 5l 3590 018 u*‘L 3 e (F

~-A¥

fanil axdls ash Wb 3 90 plas p Jldos sla s yacliyp 30 olpde ~AY

Cansyd (gl 15" alovil (F 2k g 215 (Y R AL s 5 ()

il (553190 9 CaMS Sk i i 400550 oIS —AA

wa slealsnil S50 - alllai ey Wi axal ()

3 leasynil slwl &8 5= 9 gleazsuil o le Jdose 4 (Y
p glatsnl isls Jas 4o g slaas,ail sl a8 (¥
Fr sleenl ol Slegbge o) 55,08 ol (F

Gl 590 31 KIS 7 3l i 7 4 152 95U Sy 1l sl Joe 5 (1S B5) 55 BT 0 ~AS
€3 gui g0 Ol
Wiy~ gy (F qyo - i (¥ mro-wre (Y iy - i ()
SUPAE TP S £ Tl I JTS1 e Hloolaiwl b as Cunl J s 0 gty Js -4
,9u (F laasl s (¥ aaliw (Y aals (A
ot/ 32t
ETWWOL LIS PRRPSY- I g K U’-‘ﬁ 9B FO cole iy  -4)
D) pane Jad § sasetie slale g oSunia ()
..),..:.o dgpln > ﬁj‘ ) azsls &ﬁ.’b fgun g .))‘JJO:\MJ.LZ("
.b)l.ﬁ Cyra b}’ g ‘.’Ll.o u:aLl.a :d._...., [ asly CJJ.Q.:; g \3
M5 e 88> 5 Jadh 5 pslae las g 5 pastie glyle 5 S (F
€39 g0 oL LISl 4y g3l 398 53900 33 i 3| I (STl a3l 3 i 55 A

e oo el Celo YF o i b Sls a4 S50 ()

Db o el el YF floy i b OB a4y 31 je (Y

Spge 433 puloial g 55 ceilya s ool IS 3 0t il 3 sl OV

Rep a8 el jg0 53 5 planl e ol 518 90 5> b g Gl 5 liaie DLE 5 (ol (F

forum.konkur.in



www.konkur.in

W anio 315F (11F+ a5) ollisil o pie 3 Bl yd (5903l

Fammny Ul lolutdl Al gamsg 9 5330 03 imo &5 g3 y900 53 -AF
dsige J 381y Jgale @) aalad 1o 5 gaaalsd o2 dia ()
Dedes STk oy Lo 4 7y > g 99)8 5| (oL plis jphx U g 0als S adlats IS (Y
Dy AlSS S g ot olad plie (S0 @ Slpe (U
D5sn ST Jstoe judl Jain; o1 (5908 4 4z g )7 Ao 4y (S, (F
ol gl HUuls ol py 2 Lad Ololae oAl Ol jiws -AF
Adl 228 Wl O jenws g cans 1! LB ()
aslo y olab plis slad a4 celu FA Bk 250 lxai oo 58 1) dlgzee Slaludl w9 col 2] 5 (Y
Ailop olad plia slael a4 sl YF B,5 g 7,0 loned j90 50 | dlgoes Slaladl aub g ol 12! L5 (T
Aluy oo olad plie glael 4 Alolidl § o3ses doraijgo | el Sl jezus lals (F
)0 (ol a2 ls jgel ) cadaby (LS ) (g yhas (on 3310 (ol (3906 iy -0
g oo Do Jals yel Gllals O )Us Lo ()
Wl Slails b ol plol Slaladl Cldgise § Wiad coi Lgame (g S0l Lol (Y
)15 Eoste e S jgale b b3, 43 5 digd g gine Ll (¥
I (Fdpins digSons g digd gad Dgrne bals (F
Famw! plAS aad3 oo plauil i 0y Ao alslae )0 ollasil ol ygole 45 pwll OIS -4F
et ygo ada ()10 pitialoly vaizms (5 00 Ko L 153 £35S (595 s ()
s e L R e s
elmed g0 pelati o oLa8 plde 5l Dges i > dimo Lad> (V
orelnedygo @l 1> E589 e ey o595 A (F
3 slaisl 1 g puS ol oy BV 3 ,UT Bdo lodie (292 5b 12 S Sz 50 ey & Floladl asgaze -2V
3,10 pU az wadd o0 planil (5930 g2 sl 43 onigp S g e 518

w2 2l e ( lbad oy LS5 ()
iz (gole 25 (F oz olat g9 g (F

Syl S e oyl g i (585 jgal 50 ONEN g oges s ow ol 0l il8 VFY eole wluly -4A
Opd Oy digss Wl

Dpdy Syge Sl Sl jaax )0 Wb ow)il g i ()
Dpdy Oy op ol 051l el B ats jeas bl ol 3 oSl e o)l g i (Y
Dpdy )90 Jeild It jedx b asl S0 e ()il g i (F
Dpdy Oyge oppals 5l (K jeax )0 ab ol oS e ()il g et (F
Caigui o0 waler (LS plie bauwgi | )90 42 )3 Ladlac 9 354 o gy (a1 il (938 Vo F o0lo olusly -4
2l plie ] gy SigS e anii ()
plad plie 53 jea> gl azge )i 3425 pas (V
allas b sals Ol lebl oo 4 olad plie o 5 (T

(b8 plie 35 j9a> gl al> 0 9 5l e azge e 200 (F

forum.konkur.in



www.konkur.in

VF acieo 315F (11F+ a5) ollisil o pie 3 Bl yd (5903l

il Wighay o Ao Glylas plonil 3920 g i i )00
e ales Sloladl (535 audomi 90 - (510 50Se - (g0 potlook - Y5 (55l ()
ol dtlan LA 53,5 aulnd gy - (s foypndlosl = B S ppleaz - o595 4ng (¥
oo anlae Slaladl 05 el 00 - (5 0 piadlool - (5 )10 S = (595 g (T
(5K - 5 fayptlasl - ¥ 5 gl - 55,5 4 (F
] 45982 16 2T @i planil S sy (T4 9 Gy Ll @ (s —)0)
Dy anles 13 Kl aslad 599 d, Cadlgs L ()
355 o0 )8 G pudl LIS 10 0k (LB CulyS o @ (Y
35 55 oo il ey 5 55 5 S ol g 4Ll 855 L5555 5 ol (¥
ol ailad 593 o) Lol 3 g (AT slil g wls 30 b il o Jsts (0 5V CBElga b (g Sl (5051, (F
3,15 pU 4 wiai> [uh (pdg) 9 o2 AT Hslilods aallae OBl 9 9408 WOl glossl -+
shoa Sl (F slone wislaa (F aoliad ¥ 23k ()
fog0i Jor Wb digha (9o (Tl dgeio w2 yo - 10Y
A3l o8 5 Jytn plie U Sinles 4 L spte il 53 ()
slign o)lol ol ot plia b Snlon 4 jls sggtn il )0 (¥
Aibge 2l plas jpresa 5L (Heo (Sl 50 dgpte malx o (T
il oo (plad jgis 331 g 0 ol Jote (Soalos 4 5L (Hgo SSLl )3 05ete w2 po (F
Fama! 1SS o syt —)oF
WSS e skl o) @ glis (6! (5980 Llal ()
DS o Lzl ol 4y gaes LIl (gly (gae0 wlal (Y
S ga slial ol 4 g9 glia L L3 g1y (g9 Sl (T
aaslad gn all SU8 o adl (g9 bedl 3,lpa 3 Ko Jods (F
fog cule) Wb SIS 4z Ji6 Lo (595 i )0 100
D9 an (59,5 pyr bdas e BYs g U1 g s endg 5l g et (o Sl L ()
29 ded (S35 o aime 13 O G5 I8 e 5 s Cndg g e ol Sliz L (Y
D300 43 (S35 2 b kape BV 5 BT 5 dm Condg SI(F
Dgdin dotd (S5 oy Ao ;5 o) (23T 3 e g e Sy I (F

it 2 jl i S ke

€ sl el IS Jold s oollisil (g Kl —1oF

S ale, (Y <= ()
M L el ple (Y
§ s e 43 35 1S LoolSuly 9 5,0 10 il 31 (5 sy By yg0le yo 1Y
ke 0T (Rl polis auilasls (¥ Ot 9 OLSL 5 el 9 Geiod ()
Fre bla s Sl cnF o)l 8 0 (F ol g (Fei o5l Dless (7
Fogd o Wi lojlw Pluws dxlllas 33 )5 o0 o S plas —1+A
sl slagia (F s basl (7 SS9 (Y S e ()

forum.konkur.in



www.konkur.in

10 axio 315F (NVF+ o) ol Cu p e g piloyd (40
fuilplas Canaal b Jool 99 o 2 51 5yl Su ke p3 -1
S5 ¢ SKunles (F S g cdas (Y pleal 5 S (¥ pléal g S )
o9 o0 by yo diwd plaS @ (2 )5 Jor (wlulp Sy -1V
SdeolipS ¢ aeancls (Y obais! g egac ()
allazil 5 oL (F Jlas o il (r
foawl 3)lg0 plas 1 Sy GlSliey Oldes jo LS O)le @ Slocly b S 1Y)
Sy g upaa (Y @ilojlo g S pae ()
JAS g e (F Siyabip g Supa (¥
by dile yoee b ) grendl b 03 (s )15 51 (ylialbl cannS ooty pogas b (pad bl Sgap 4 5T 1Y
fatolion 5 pofiuny £9 42 | aral
&S ple (F >l (¥ S als, (¥ = ()
€335 o8 Jalid 1y 4y 55 o1 o 52 31 (5 pudony S ot 50 olliil glaSIuS ) dilobes 31 (5 0 ya0 39 58 —NIY
b slacs jpale (2 g g5 ()
st g o sk ;3 (55,440 p 5 (5,05 Eeslow (¥
£z 3l Rt 3 (fleizl g (S Jhazg 250 (Y
5355 53 ey sl 98 pllal (ud 4ol g e ) (F
filelas €ps 5o LIS (gl Glus 1 o5 1 (5 ey S b0 y0 &5 ) LAwr glgil -WIF
raiions o pailinns (¥ Sl g ol ()
wldlogls « eloza! (F Lo Jicsss (7
¢! prasmio aiy 3 plas o Glail & jlee g1y -1
olojlr (Fazm I3 JUlys (¥ ol bl Uls O
Sisel 5 M 65 5 bl (F olejlr )3 3,8 Sldes I3 Ul (¥
Fawl 4l 3F plas o T slaolugy g Julpd madi 5lp Jlo> g anbdS SleMbl 1 oslicw! 5,51, —\\#
ookl (F S0 (7 &8s (¥ ol s yaaby ()
09 o0 and 0390 plaS o collal ladlas ;) piaiws )0 80l 3 (59 90+ 295095 SACLS SlMb! o ;o NIV
Ol jag g @O (Y Seb ()
SeSU g Sl el e (F SeiS axly 5 Sles asdls (T
0,10 0,l01 0,509, plus @ €09 o0 Lloizlas lo L6, Sl a5 Cuwl J9il b jlas 51 Jasd o 20 ales> -11A
=leizl g gl (¥ 9> 9 (9 ()
ol o (F &b (F
Srfi £ IS 952 (prx GGl m) (aSTly sl 9 (02 WIS I J8) (S oSy -MA
o] &l iy Sloludl cuale ol
alslaae olej (F SeslSa (7 s (¥ ety ()
! (313 33 5yl Syt 35518 A5 932 50 31 ot 9 B re s ol U8 T Y
S5 9 (F 23 (7 oo g8 (Y sl ()

forum.konkur.in



www.konkur.in

VF axio 315F (NVF+ o) ol Cu p e g piloyd (40
el yo puile )3
il plas (Lilpawl) ol b 53 el L otile 3 €3b 5 ol 3% Candidge 3o, —IY)
Jos S ()
39 b b el g e (Y
oS (295 p g dha> )3 Cuabls (7
Olbogs Sl ¢ DUl 44 50 § (6,5 peeal o alu il (F
L TOUK A FC PSR SUPRPCION ICH I PPSPLOSUIT SRPrT Pr S 1
Jleix! g Coabold (Caeloeds v 5 (Y OV 9 S igad wud i ()
bli>l g olaws wcelod waso 5 (F Jle> g blos] iy gus wun i (7
Obleluss slodal owlow 5 (S 3 (JogSo lacudles plad 350 1) IS plaf ((0) Mol (ool ¥ jsly VYT
falo H1,8
s> ails (F Cyaades 1L (F Azes (Y AsgSd 1 ()
sl plAS (g 0Ca0g8> 0 (2) pMl (a1 )5 paolny (SS9 (2S5 -ITF
Canalols (Y Sy ()
oo g (F Gl ala b g Cu it (Y
O BECPET JOF] IR JYPIRCININPTpURT g | £
S 5 b (Y 39 Ama el ()
S ) e (F S Sy (V
ol plas puile 8 jl Celbl 40 () PMl (0l )5 ol Hlals o i ~1YF
ploedl pae (¥ ol (1
onils b an (F soaile 8 jenis 3l alsa (7
Flamazy (e O jgden ol 50 Jlas (iS5 —ITY
Oygie 4y solozel o (F Llé &gt (V sl Slacl (¥ O ygdee pas ()
00,5 Conm (Slgae 4z 4 ((p) POl (gal )5 proly b o 00 30 sddie oy 53 —1TA
ansl> 18 5 ¥ el (F ez ouile 3 (¥ el s (¥ 532 Olesy ()
TR DRI JSUPSIE VNN ICPYRIREIY I [CUOC PRERUIR JOURT 1 [ A SO [ [ |
poye shis o5 oLl (Y Jue 4l g (gpine Coyi 23 T ()
st o8, (sl (F p3 50 slajls el (¥
Tz Al oo 4 Cuy poke Aol > e 4 Jolog 95130 511 G bl yo Y
T (F ez (7 Jozs (¥ o ()
flawl oel QLS alus 10 (pdll 35 puileyd Sa) sBanogl oo yiiew —1T)
S8 Jeo! (F a>Ladlizes (¥ asd e (¥ oS o3 ()
Foaw] @adaio 3590 plas b oMl BWle 8 9 Sy pie Y'Y
wseole ol (F el (Fplex (F e o (V ! ()

forum.konkur.in



www.konkur.in

W axio 315F (11F+ 05) Lallil S pow 3 pileyd (3903

sl (el 5 (510559 4 395 Cam 33 () (e © pi dnogs (50 s <390 oIS WY

s9al 50 ol g ! gleds (F ol odlas (¥ 03 S SO (Y Sl (
Sz () ol (0l 5 paoley S35 51 (E) (e &yl (A d Sy (2 Fete —ITF

e & (§ S s g lgd 4y Cud (g8l53 503 ()

(&) uJ‘ plel Ceeloeds (Y

(&) e plal Coabls (Y

Kixr 2l 5l (8) e plel 211 (F
il o SEar 30 Canlign cazgo 40d 5l (S 329 pIaS () Ml (0l )5 puely D58 50 -1TD

g saile (et (¥ 353 (5 S tslone ()

forum.konkur.in



VA axao

www.konkur.in

»
—
h
=

115+ o) polliil Cu oo 3 oo b (39050

forum.konkur.in



www.konkur.in

»
—
h
=

14 amieo (N5 &) olliil o p ke 3 Bl b 905

forum.konkur.in



Y+ axao

www.konkur.in

»
—
h
=

115+ o) polliil Cu oo 3 oo b (39050

forum.konkur.in





